20245 (HF646A - HHIESA) N\VALEEFMALF—

68 June 78 July 8H August |98 September| 108 October 118 November[128 December| 18 January | 28 February | 38 March 48 April 58 May

1A 1K 18 1R 1% 18 17K 5tH 1R 1K

2 B 2 K 2 & 2 A 2 Kk PCH=E 2 B 2K 2 H 2H 2 KPCH=E 2%

3B 3 K PCH=E 3k 3K 3H XtDBH|3 X 3% 3B 3 A 3K 3+ BEEEHE

4 K 4 K 4 B 4K PCHZE |4 & 4 A REZKE (4 K PCHE 4 K 4 X PCHZE |4 4B #HEYDA

5KPCH=E 5% 5A 5K 5K 5K 5H 57K PCH=E |5 7K 58 Z&LDHE

6 K 6 X 6 & 6 B 6 K PCH=E (6 & 6 A 6 K 6 K 6 B 6 X fREAKB

1% 78 7 7k PCH=E 78 7K 7K 1% 1% 78 7 K PCH=E
8 A 8 K 8 B 8 K 8 & 8 H 8 7k PCH = 8 K 8 K

98 9 K 9% 9 A 9 7k PCH=E 9 A 9 K 98 9 H 9K PCHZE 9%

10 A 10 /K PCH=E 10 K 10 R 10 H 10 X 10 & 10 A 10 A 10 R

11K 11K 11 B IWWOHE |11 KPCHZE|11 £ 11 8 11 /K PCH=E 1k BEREOE [11 X " 118

12K PCHZE|12& 12 A iREKB |12 K 12 K 12 K 12 8 12 7K PCHZE |12 /K PCEZE 12 B

13 K 13 K 13 & 13 B 13 K PCHZE 13 & 13 A RADBE|13 K 13 K 13 H 13 K

14% 14 H 14 K tKEEH 14 B 2K—voBE |14 K 14 X 14 & 14 & 14 A 14 K PCH=E
15 A #BOA |15 K 15 B 15 K 15 & 15 B 15 7K PCH=E 15 X 15 K

16 B 16 X 16 & 16 A HEZDH|16 /K PCHZE 16 A 16 K 16 B 16 B 16 JK PCHZE |16 &

17 B 17 7K PCH=E 17 K 17 K 17 B 17 K 17 & 17 B 17 B 17 K

18 X 18 K 18 H 18 K PCHZE |18 & 18 A 18 JK PCH=E 18 X 18 X 18 & 18 H

19 K PCH=E |19 & 19 B 19 K 19 K 19 K 19 H 19 7K PCHEE |19 /K PCHZE 19 B

20 K 20 X 20 & 20 H 20 7K PCHE (20 & 20 A 20 K 20 K H50DA(20 A 20 K

21 & 21 B 21 JK PCH=E 21 A 21 K 21 K 21 & 21 & 21 B 21 JK PCHZE
22 A 22 K 22 B oD A |22 K 22 & 22 H 22 /K PCHE 22 X 22 K

23 H 23 K 2% 23 A REAH |23 /K PCEE (23 + g ra#ioa (23 A 23 K 23 B X234£H (23 B 23 /K PCEE (23 &

24 A 24 JK PCHE 24 K 24 K 24 B 24 X 24 & 24 A R&KB(24 A 24 K

25 X 25 K 25 B 25 J)K PCHZE (25 € 25 A 25 JK PCH=E 25 K 25 K 25 & 25 B

26 /K PCHE |26 & 26 B 26 K 26 K 26 K 26 H 26 7K PCEZE |26 /K PCH=E 26 A

27 K 27 K 21 & 27 B 27 K PCHE (27 £ 27 A 27 K 27 K 27 B 27 K

28 & 28 H 28 /K PCH=E 28 A 28 K 28 X 28 & 28 & 28 A 28 /K PCHE
29 H 29 K 29 B 29 X 29 & 29 H 29 /K PCH=E 29 Xk BBFOIOA [29 K

30 H 30 K 30 & 30 A 30 /K PCHZE 30 B 30 K 2 H 30 H 30 /K PCHE (30 &£
31 /K PCH=E 31 K 18 31 X 31 & 31 A




